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1. An object, 4.0 cm in size, is placed at 25.0 cm in front of a 
concave mirror of focal length 15.0 cm. At what distance 
from the mirror should a screen be placed in order to obtain 
a sharp image– 
(A) 27.5 cm ( v = –27.5 cm) (B) 17.5 cm ( v = –17.5 cm) 
(C) 37.5 cm ( v = –37.5 cm) (D) 47.5 cm ( v = –47.5 cm) 

4.0 15.0 

25.0 

– 

 (A) 27.5 ( v = –27.5 ) (B) 17.5  ( v = –17.5 ) 

 (C) 37.5  ( v = –37.5 ) (D) 47.5 ( v = –47.5 ) 

2. The potential difference between the terminals of an 
electric heater is 60 V when it draws a current of 4 A from 
the source. What current will the heater draw if the 
potential difference is increased to 120 V? 
(A) 2A (B) 8A (C) 4A (D) 12A 

 60
4 ( )

120  
 (A) 2  (B) 8   (C) 4  (D) 12  

3. A wire of given material having length l and area of cross - 
section A has a resistance of 4  . What would be the 
resistance of another wire of the same material having 
length l/2 and area of cross - section 2A? 
(A) 1  (B) 2   (C) 3   (D) 4   

l A 

 4 l/2 
2A ? 

 (A) 1 (B) 2  (C) 3  (D) 4 
4. An electric refrigerator rated 400 W operates 8 hour/day. 

What is the cost of the energy to operate it for 30 days at Rs 
3.00 per kW h? 
(A) Rs 300.00   (B) Rs 188.00 (C) Rs 388.00 (D) Rs 288.00 

Rs. 3.00 kW h 

( )  

 (A) Rs 300.00   (B) Rs 188.00  (C) Rs 388.00 (D) Rs 288.00 
5. The refractive indices of glass and water w.r.t. air are 3/2 

and 4/3 respectively. The refractive index of glass w.r.t. 
water will be– 
(A) 8/9 (B) 9/8 (C) 7/6 (D) None  

3/2 4/3 

 

 (A) 8/9 (B) 9/8  (C) 7/6 (D)  

6. Which is not a Redox reaction– 
(A) CaCO3   CaO + CO2 (B) 2H2 + O2   2H2O 
(C) H2 + Cl2   2HCl (D) 2Fe + 3Cl2   2FeCl3 

 (A) CaCO3  CaO + CO2 (B) 2H2 + O2  2H2O 

 (C) H2 + Cl2  2HCl (D) 2Fe + 3Cl2  2FeCl3 

7. In a displacement reaction– 
(A) Less reactive metal displace more reactive metal 
(B) More reactive metal displace less reactive metal 
(C) Both (A) & (B) 
(D) Reaction does not depend on reactivity 

 (A)  

 (B)  

 (C) (A) (B)  

  (D)  

8. What is the formula of bleaching powder– 
(A) NaOCl (B) CaOCl2 (C) Ca(OCl)2 (D) NaHCO3 

 (A) NaOCl (B) CaOCl2  (C) Ca(OCl)2 (D) NaHCO3 

9. Which is an olfactory indicator– 
(A) Methyl oragne (B) Vanilla 
(C) Phenolphthelein (D) Termeric 

olfactory ( )  

 (A)  (B)  

 (C)  (D)  
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10. In Chlor-alkali process which compound is obtained at 
Anode– 
(A) H2 (B) Cl2 (C) H2O (D) O2 

 (A) H2  (B) Cl2   (C) H2O (D) O2 

11. One molecule of Gypsum contains– 
(A) 1 molecule of H2O & 1 molecule of CaSO4 
(B) 1 molecule of H2O & 2 molecule of CaSO4 
(C) 1/2 molecule of H2O & 1 molecule of CaSO4 
(D) Both (B) & (C) 

 (A) 1 H2O 1  CaSO4 

 (B) 1 H2O 2  CaSO4 

 (C) 2 H2O 1  CaSO4 

 (D) (B) (C)  

12. If hydrogen gas is passes over heated CuO. Then which 
product is formed– 
(A) Ca(OH)2 (B) Cu2O (C) Cu (D) None  

 (A) Ca(OH)2 (B) Cu2O  (C) Cu (D)  

13. Which metal is obtained from cinnabar– 
(A) Cu  (B) Zn (C) Au (D) Hg 

 (A) Cu  (B) Zn  (C) Au  (D) Hg 
14. Solder is an alloy of– 

(A) Cu + Zn  (B) Cu + Sn (C) Pb + Sn (D) Sn + Zn 

 (A) Cu + Zn (B) Cu + Sn  (C) Pb + Sn (D) Sn + Zn 
15. -------- is called main thinking part of Brain– 

(A) Fore Brain (B) Mid Brain 
(C) Spinal Cord (D) Hind Brain 

 (A)   (B)  

 (C)    (D)  

16. Which of the following events does not occur during 
photosynthesis? 
(A) Absorption of light energy by chlorophyll 
(B) Conversion of light energy to chemical energy 
(C) Oxidation of CO2 to carbohydrates 
(D) Synthesis of sugar 

 (A)  

 (B)  

 (C) CO2  

 (D)  

17. Pseudopodia are found in– 
(A) Plant (B) Human (C)Amoeba (D) Leeches  

 Pseudopodia  

 (A)  (B)   (C)  (D)  

18. Mucus protects the inner lining of the stomach from the 
action of– 

(A) Acid    (B) Base 
(C) Salt   D) Hydrophobic compounds 

 (A)   (B)  

 (C)   (D)  

19. Pyruvate              ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗  ⃗ Lactic acid + Energy  
This reaction occurs in– 
(A) Mitochondria (B) Yeast 
(C) Muscles  (D) Chloroplast 

               ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗ ⃗⃗    +  

 

 (A)  (B)  

 (C)  (D)  

20. Longest cell, which involves in control and co-ordination– 
(A) Nerve cells (B) Absorbtive cells 
(C) Langerhan's cells (D) Muscle cells 

 (A)  (B)  

 (C)   (D)  

21. Transacting biomolecule are– 
(A) Enzymes  (B) Hormones 
(C) Carbohydrates (D) Vitamins 

 Transacting  

 (A)  (B)   (C) (D)  

22. Hormone responsible for puberty in females– 
(A) Testosterone   (B) Oestrogen  
(C) Thyroxin    (D) Insulin 

 (A)   (B)  (C)   (D) 

23. Heaviest particle is  
(a) Meson (b) Neutron (c) Proton (d) Electron 
Hkkjh d.k gS  
(a) eslkWu (b) U;wVªkWu (c) çksVkWu (d) bysDVªkWu 

24. The density of neutrons is of the order  
(a) 103 kg/cc  (b) 106 kg/cc   
(c) 109 kg/cc  (d) 1011 kg/cc 
U;wVªkWu ds ?kuRo dh dkssfV gS  
(a)10

3
 kg/cc    (b)10

6
 kg/cc      (c)10

9
 kg/cc      (d)10

11
 kg/cc 

25. The shape of an orbital is given by the quantum number  

(a) n  (b) l  (c)m  (d) s  
d{kd dh vkdf̀r dks fdl Dok.Ve la[;k }kjk n'kkZrs gSa 

(a) n  (b) l  (c) m  (d) s  
26. The most abundant element on earth crust is  

(a) Hydrogen (b) Oxygen (c) Silicon (d) Carbon  

Hkw-iiZVh esa lokZf/kd ek=k esa ik;k tkus okyk rRo gS  
(a) gkbMªkstu (b) vkWDlhtu (c) flfydkWu (d) dkcZu 

27. Which are exclusively viviparous   
(a) Bony fishes (b) Cartilaginous fishes 
(c) Sharks  (d) Whales  
fuEu esa ls dkSu dsoy cPpksa dks tUe nsus okyh gSa  
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(a) vfLFk eNfy;k¡ (b) mikfLFk eNfy;k¡ 
(c) 'kkdZ  (d) OgsYl 

28. Silicon is main constituent of  
(a) Alloys (b) Rocks (c) Animals    (d) Vegetables 
flfydkWu eq[; vo;o gS 
(a) feJ-/kkrqvksa dk (b) pêkuksa dk    
(c) tUrqvksa dk  (d) ouLifr;ksa dk 

29. Express number 7429 as a product of its prime factors– 
(A) 17×19×23 (B) 18×19×23 
(C) 12×19×23 (D) 17×19×13 

7429  

 (A) 17×19×23  (B) 18×19×23 
 (C) 12×19×23  (D) 17×19×13 

30. Find the LCM and HCF of the pair of 336 and 54 –  
(A) LCM – 3024 & HCF – 2 (B) LCM – 3024 & HCF – 6 
(C) LCM – 2024 & HCF – 6 (D) LCM – 2024 & HCF – 2 

 336 54  LCM HCF  

 (A) LCM – 3024  HCF – 2  (B) LCM – 3024  HCF – 6 

 (C) LCM – 2024  HCF – 6  (D) LCM – 2024  HCF – 2 

31. Find a quadratic polynomial with the given numbers √  
 

 
 as 

the sum and product of its zeroes respectively– 

(A)      √     (B)      √      

(C)      √     (D)      √     

√  
 

 

 (A)      √      (B)      √     

 (C)      √      (D)      √     

32. 10 students of class X took part in a Mathematics quiz. If the 
number of girls is 4 more than the number of boys, find the 
number of boys and girls who took part in the quiz– 
(A) Boys–3 & Girls–7 (B) Boys – 2 & Girls – 8 
(C) Boys–6 & Girls–4 (D) Boys – 5 & Girls – 5 

 ( X 10 

  

 

 (A) –3 –7  (B)  – 2 – 8 

 (C) –6 –4  (D) – 5  – 5 

33. 5 pencils and 7 pens together cost Rs 50, whereas 7 pencils 
and 5 pens together cost Rs 46. Find the cost of one pencil 
and that of one pen– 
(A) One pencil – Rs 5 & one pen – Rs 3 
(B) One pencil – Rs 3 & one pen – Rs 5 
(C) One pencil – Rs 4 & one pen – Rs 4  
(D) One pencil – Rs 6 & one pen – Rs 2 

 5 7 50

5 46

 

 (A) – Rs 5 – Rs 3 

 (B) – Rs 3 – Rs 5 

 (C) – Rs 4 – Rs 4  

 (D) – Rs 6 – Rs 2 

34. Find out whether the lines representing the pair of linear 
equations 9x + 3y +12 = 0 ;  18x + 6y + 24 = 0 – 
(i) Intersect at a point (ii) Are parallel lines 
(iii) Are coincident lines (iv) None of these 

 9x + 3y +12 = 0 ;  18x + 6y + 24 = 0 

– 

 (A)  (B)  

 (C)  (D)  

35. Which of the following pairs of linear equations are 
consistent? 
(i) x + y = 5, 2x + 2y = 10 (ii) x – y = 8  3x – 3y = 16 
(A) Only pair (i) is consistent (B) Only pair (ii) is consistent 
(C) Both Pair (i) and (ii) are consistent 
(D) None of these 

? 

 (A) x + y = 5, 2x + 2y = 10 (B) x – y = 8 3x – 3y = 16 

 (A) (A)  (B) (B)  

 (C) (A) (B)  

  (D)  

36. Half the perimeter of a rectangular garden, whose length is 
4 m more than its width, is 36 m. Find the dimensions of the 
garden– 
(A) Length = 7 m and width = 11 m 
(B) Length = 11 m and width = 7 m 
(C) Length = 8 m and width = 10 m 
(D) Length = 10 m and width = 8 m 

36
4

 (A) = 7 m = 11 m 

 (B) = 11 m = 7 m 

 (C) = 8 m = 10 m 

 (D) = 10 m = 8 m 

37. Solution (value of s & t) of pair of linear equations, s – t = 3 
and  is– 
(A) s = 9 , t = 6 (B) s = 6 , t = 9 
(C) s = 7 , t = 11 (D) s = 8 , t = 12 

s – t =3 (s t )  

 (A) s = 9 , t = 6 (B) s = 6 , t = 9 
 (C) s = 7 , t = 11 (D) s = 8 , t = 12 

38. Find the solution (value of x & y) of 2x + 3y = 11 and 2x – 4y 
= –24 and hence find the value of 'm' for which y = mx + 3 : 
(A) x = –2 , y = 3 & m = –2 (B) x = –1 , y = 5 & m = –2 
(C) x = –3 , y = 2 & m = –1 (D) x = –2 , y = 5 & m = –1 

 2x + 3y = 11  2x – 4y = –24   (x  y )

'm' y = mx + 3  

 (A) x = –2 , y = 3  m = –2 (B) x = –1 , y = 5  m = –2 

 (C) x = –3 , y = 2  m = –1 (D) x = –2 , y = 5  m = –1 

39. The coach of a cricket team buys 7 bats and 6 balls for Rs 
3800. Later, she buys 3 bats and 5 balls for Rs 1750. Find the 
cost of each bat and ball– 
(A) Bat : Rs 500 & Ball : Rs 50 (B) Bat : Rs 400 & Ball : Rs 60 
(C) Bat : Rs 500 & Ball : Rs 10 (D) Bat : Rs 300 & Ball : Rs 50 
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7 (Bat) 6 (Ball) 3800 
3 (Bat) 5 (Ball)

1750  

 (A) Bat: Rs 500  Ball: Rs 50  (B) Bat: Rs 400  Ball : Rs 60 

 (C) Bat: Rs 500  Ball : Rs 10 (D) Bat: Rs 300  Ball : Rs 50 

40. A fraction becomes 9/11, if 2 is added to both the 
numerator and the denominator. If 3 is added to bodth the 
numerator and the denominator, it becomes 5/6. Find the 
fraction– 
(A) 7/9 (B) 9/7 (C) 5/9 (D) 9/5 

9/11 , 2

5/6  

 (A) 7/9 (B) 9/7  (C) 5/9 (D) 9/5 
41. Which of the following pairs of linear equations has unique 

solution: 
(A) x – 3y – 3 = 0,3x – 9y – 2 = 0    (B) 2x + y = 5, 3x + 2y = 8 
(A) Only (A) has unique solutuon 
(B) Only (B) has unique solution 
(C) Both (A) and (B) have unique solution 
(D) None of these 

: 

 (i) x – 3y – 3 = 0, 3x – 9y – 2 = 0 (ii) 2x + y = 5, 3x + 2y = 8 

 (A) (i)

 (B) (ii)  

 (C) (i) (ii)  

 (D)  

42. For which value of k will the following pair of linear 
equations have no solution: 
3x + y = 1, (2k –1)x + (k –1)y = 2k + 1 
(A) k = 3 (B) k = 2 (C) k = 5 (D) k = 1 

 k 

 

 3x + y = 1, (2k –1)x + (k –1)y = 2k + 1 
 (A) k = 3 (B) k = 2  3) k = 5 (D) k = 1 

43. In a  ABC,                  . Find the three 
angles – 
(A)                         
(B)                       
(C)                        
(D)                       

 ABC ,                .  

 (A)                         
 (B)                       
 (C)                        
 (D)                       
44. The probability that a randomly chosen number from one to 

twelve is a divisor of twelve is– 
(A) 1/12 (B) ½ (C) 1/4 (D) 1/6 

 

 (A) 1/12  (B) 1/2 (C) 1/4 (D) 1/6 

45. The probability of getting a bad egg in a lot of 400 is 0.035. 
Then the number of bad eggs– 
(A) 7 (B) 14 (C) 21 (D) 28  

 400 0.035 

 

 (A) 7  (B) 14  (C) 21  (D) 28 

46. Sides of two similar triangles are in the ratio 4 : 9. Areas of 
these triangles are in the ratio– 
(A) 2 : 3 (B) 4 : 9 (C) 81 : 16 (D) 16 : 81 

4 : 9 

 

 (A) 2 : 3 (B) 4 : 9 (C) 81 : 16 (D) 16 : 81 
47. In   ABC, right angled at B, AB = 24 cm, BC = 7 cm. 

Determine value of sin C & cos C– 
(A) 25/24 & 25/7 (B) 24/25 & 7/25 
(C) 7/25 & 7/24 (D) 24/25 & 7/24 

 ABC , B , AB = 24 cm, BC = 7 cm sin C 

cos C – 

 (A) 25/24 & 25/7 (B) 24/25 & 7/25 
 (C) 7/25 & 7/24 (D) 24/25 & 7/24 

48. If tan (A + B) =√   and tan (A – B) = 
 

√ 
; 0º < A + B  90º; A > 

B, find A and B– 
(A) A = 45º & B = 15º (B) A = 35º & B = 25º 
(C) A = 55º & B = 5º (D) A = 40º & B = 20º 

tan (A + B) =√     tan (A – B) =
 

√ 
 ; 0º < A + B < 90º; A 

> B,  A B – 

 (A) A = 45º  B = 15º (B) A = 35º  B = 25º 

 (C) A = 55º  B = 5º (D) A = 40º B = 20º 

49. A tree breaks due to storm and the broken part bends so 
that the top of the tree touches the ground making an angle 
30º with it. The distance between the foot of the tree to the 
point where the top touches the ground is 8 m. Find the 
height of the tree–  

(A) 8 × √   m  (B) 4 × √   m 

(C) 16 ×  √   m (D) 12 × √   m 

30º

8  

 (A) 8 ×√    m  (B) 4 ×√    m 

 (C) 16 × √    m  (D) 12 × √    m 
50. ABC and BDE are two equilateral trangle such that D is the 

mid-point of BC. Ratio of the areas of triangles ABC and BDE 
is– 
(A) 2 : 1 (B) 1 : 2 (C) 4 : 1 (D) 1 : 4 

 ABC BDE D BC 

ABC BDE  

 (A) 2 : 1 (B) 1 : 2 (C) 4 : 1 (D) 1 : 4 


